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1. A1 mA ammeter has a resistance of 100€. Tt is to be converted to a 1A, ammeter, 't he
value of shunt resistance is ~~ . |
a. 0.0019
b, 0.1001Q
¢. 100000
d. 100

2. The circuit shown in the figure uses an ideal op-amp working with +5V and -5V
power supplics. The output voltage Vo is '

<A 45V

a

b. -5V . .. = T
c. +1V

d. -1V
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For the equivalent star-delta circuit shown in the given figure, the values of Rap and

‘Rgc are respectively A

B

- a 5Qand15Q
b, 15 Qand 30 Q
g 30Qand5Q.
d. 20Qand35Q
4. Thc !_Q'gic; circuit given below anyér{'s a binary cade Y, Y2 Y3 in to

| T‘f: S ER | o \13

Excess-3 code
Gray code
BCD code
Hamming code
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5.

For a: fhp flop formed fromtwo NAND gates as shown in the hgu:c the unusable -
state corresponds to - : :
DR

i X=0,vy=0 Y. |
b. X=0, Y=1 :
c. X=1,Y=0
d X“l Y=0
Accuracy is specified as £0. 5% of true value. At 5% of full scale error of the
Instrument will be
a. +0.025%
b. £0.5%
c. +2.5%
d. +25%

. An ideal OPAMP has a, gain‘ of -100. The input is connected 1o inverting end and the
input resi_sténcfe, is _lk'Q‘. the feedback resistance is
a. 100kQ
b. 10
c. 100Q
d. "100kQ

The-Lissajous pattern on an oscilloscope has 5 horizontal tangencies and 2 vettical
tangencies. The frequency of the horizontal input is 100Hz. The frequency of the
vertical input will be :
a. 400Hz
. b. 2500Hz
¢, 4000Hz
d. 5000z




9 A the1mo~couple ammeter gives full scale deflection of IOA When it reads one fifth
of the scale, the current will be :
a. 2A
b. 4A
c. 447A
d. 5.78A

10. An enhancement type n-channel MOSFET is represented by the symbol

I'J




11. - Magnitude of the gain in the inverting op-amp circuit shown in the figure be x with
switch S1 open. When switch S1 is closed, then the magnitude of gain becomes

. S
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c. 2x

d -2x
12. A pressure gauge 0-100Pa has a guaranteed acouracy of 1% of full scale deflection.
The limiting error while reading 25Pa will be
a. 1%
b. 2%
c. 2.5%
d. 4% ,
13. The time constant of the network shown in figureis. . .

2RC
3RC
RC/2
2RC/3
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14. Two coilsin different connection have self inductance of 2mH and 4mH and a mutual
inductance of 0.15mH. the equivalent inductance of the combination is

a. 5.7mH
b. 5.85mH
c. 6mH
d. 6.15mH
15 For the circuit shown the carrent I is given by
| = A P
6AG) o .
a. 3A.. _—_'_ - _':_A_,_,_.._-:L
b. 2A
c. 1A
d. Zero



